3 9 9 4 5

12 12 12 12 12
S 5 *a
¢ 12
1 3 4 4 2 6
—pm=— ) — =
8 8 8 8 8 8
S 6/@
|
¢ 3
3 7 7 1 6
(1)1_—:— ) ————— )
10 10 10 10 10
6 2 4
10 10 10
3 1 4
(@) o=
10 10 10
. 4 2 2
10 10 10
3 2 5 5 4 1
(4) ) ———=—
10 10 10 10 10 10
(D) = (2) —th
' 10 100
(3) =4 5 (4) —4
10‘ s 10.,&
19 7 12 12 4 8
—_— ) —
20 20 20 20 20 20
e 8 £
PYE
2 3 2 1
kv —F o ———=—
12 12 12 12
B 1P v R L,
I ) vy L —_
€ ¥ 9 Ly 4 12

3-6
L LC1) 2 (5)
(=) 4 (—)
10 10

2.

6 7 . 1 )
2ER TE# [ S
3-6-1

KEER] D EAFA
F 0.8 04 o
KEZE#2: £3F R
¥ 11,508
KEEHI: £37F
%1351 0.1 24 535 F 4 o
KEEH5 EHFH
%16 BEE--
GIAZEAR] ¢ 3 R
(0.5) (5)

PIAEER2 L iRy
(21)

KB ARG EATF A
F 2.8 e

KB AT EATF A
g 3.2 ) e

[ A e
3 . 2
3 6

22

BTS¢ A
§ g R




3-6-1 ¥ w

(
(

0)1. C0)2

2 ) 1. (3)2

3
C 0.3 >=C — )

= 10

C=( 04 )=( = )
K= (0.6 )= —= )

.

. ¢ 0.5) 2. ( 0.9)
.0 = ) 4.(3)(0.4)
5. C 0.1 ) 6. (0.4)C0.6)
7. C0.5) C0.3)C0.2)

8 (0.6)C2)9. (0.3)C0.2)
3-6-2

KE S PR

(1) 0.3 (2) 0.5

(3) 0.8 (4) 0.9

KEER] LR

0.34+0.7=1

Filaw o

KE S PR

(1) 1.2 (2) 5.1

(3) 5.5 (4) 6.3

KEZEH2: L7 1

3+0.8=3.8

£ :13.8aH

KEFHI K
(1 1.1 (2) 4
(3) 4.1 (4) 8.1

23

KEE#I EXTF R
1.5+3.7=5.2
152§ -
KEER4:
(1 0.7
(3) 0.3 (4) 0.4
KEEFL: EXF 8
0.8—0.4=0.4
104280
KEEHH PR
(1) 0.7 (2) 1.1
(3) 2.3 4) 2.4
KEREFLH EXTF R
3.8—2.2=1.6

2 :1.6 £ -

B E6: PR
(1) 0.9 (2) 0.4
(3 1.9 4) 1.7
KEEH6: £37F 8
4.3—1.8=2.5
2.5 a8
KEEHT 3B

PR
(2) 0.5

(1) 0.9 (2) 1.4
(3) 6.5 (4) 3.7
KERET: LA7F 4
2.5—0.7=1.8

18207
SLE O RE RS
1.24+4.7=5.9
T A
BIAEHIRD R
3.9+1.9=5.4
Fibh 4o



GIAEHARS ¢ 10
9.8—1.6=8.2
182270
GIAERARA G
3.1-2.8=0.3
0340

3-6-2 A¥w

1. 2 2. 1

(1) -rl -9
(2)-C - R
349 g
4) - % - C
(B5) 7 - 57
(6) « & A

(D> @) (>) B (>) W (<)

-

(1)0.4 (2)0.9 (1.4

(4)5.9 (5)3.1 (6)0.8

T

I 0.240.5=0.7
Fr0.74 -

2. 0.9-0.6=0.3
F:0.32% o

3. 1—0.4=0.6
£ 00,64

4. 17.6-5.8=11.8
B 18 o

5. 0.5+0.7=1.2
Frl2ac o

6. 1.5—1.4=0.1

FrOorIFTE b g 0.1 2% o

&)
=

g
(=2]
é’;}",
W
3
=
!
-

R
©e 06

C 0.6 > 2. Cl)0.3)
¢ .9 > 4 (C0.6)
( 2.5 H)C 25 )

’

[\\P—'_C'Oﬁ—‘l\.ﬂ;?@.\rl

(1)0.6

(3)20

T

I. 6.3+0.9=7.2
% 17,9 o

2. 3.6+0.5=4.1
41207

3. 1.9-1.2=0.7
F:0.7T=¢

4. 3.5—1.6=1.9
F:1.922

5. 1.7—1.4=0.3
14w, £(0.32¢

4.5+3.2="1.7

A A P

(2)12.2

(4)3. 4 (5)3

3-6

(D<) 2(>) (<) (D(>)

$iw S-w

1. 8.5 2. 0.7
3. 6.1 4. 0.2
5. 0.7 6. 1.9
L.CO7) 2.C9)C0.9)
3.C0.7) 4.C0.5)

5.C 0.7)



T~

l. 5.9-5.3=0.6
£:0.6=07-

2. 1.5+1.9=3.4
134270

3. 0.8—0.5=0.3
£1:0.34 -

4, 4.2—-3.7=0.5
Fro Afgvks o8 0.5

5. 2.3—1.9=0.4

g

B BBHd o B 0422 o

~

3-6 ERFPRY

(-2 ]

(2) - % 4

3)-C - 1

4) -4 - C

(5) -« 1l - 57

1. (5)(0.9) 2.(10) (4) (1.4
3. (9) 4.(80) (8)

5. (1.9) 6.(0.2) (0.7)

1. 1—0.2=0.8;0.8—0.1=0.7

0.7+

2. 8.2—2.1=6.1:6.1—-1.8=4.3
£ 143207

3. 0.54+0.5=1:1+4.3=5.3
15327

4. 4.84+2.3=1.1
giT.1e

5. 0.5+0.4=0.9:0.9+0.2=1.1
£:1.1¢-

6. 3—0.6=2.4:2.4-0.8=1.6
£:1.6¢ -

25



